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Faculty of Engineering
Department of Mechanical Engineering
Fluid First Exam
Dr. Sameh Abu Awad October 31%.2017
oS
Problem 1( 20 Points): ABET SO (a) :

A solid aluminum disk (SG =2.7) is 2 inches in diameter and 3&4 h thick, It slides steadily down a 14° incline
that is coated with a castor il (SG = 0.96) film one(hundredth of an inch thick JThe steady slide velocity is 2 c/s.
Using Figure 1 and a linear oil velocity profile assumption, calculate the viscosity of the oil.
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oblem 2( 20 Points); ABET SO (a)

1 the setup shown in the fig

‘ ure below
s calculat
. e the absolute Pressure at a, assume standard atmospheric
pressure 10] 3
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plem 3 (30 Points): ABET SO( e)

{ b]ockAof '\A'z;)d t?vifng a volume of 0.034 m® and weighing 300 N is suspended in water as shown in the figure
bdow.” I\;fh rod o -lenglh 3.4 mand cross sectional area of 2000 mm’ is attached to the weight, and also o
the wall. e rod weighs 16 N what will be the angle 8 for the block to be in equilibrium?
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